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Multiplying a Decimal by a Whole Number

Solve the following problems.

0.7 120x =

0.12 320x =

0.2 75x =

0.5 33x =

0.23 35x =

1.7 98x =

0.65 23x =

0.25 64x =

0.66 150x =

0.4 44x =

1.2 70x =

0.45 60x =

1.2 40x =

0.09 88x =

0.1 127x =

0.8 93x =

1.5 33x =

0.04 120x =

430.86 50x =

0.34 95x =
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Answers

Solve the following problems.

840.7 120x =

38.40.12 320x =

150.2 75x =

16.50.5 33x =

8.050.23 35x =

166.61.7 98x =

14.950.65 23x =

160.25 64x =

990.66 150x =

17.60.4 44x =

841.2 70x =

270.45 60x =

481.2 40x =

7.920.09 88x =

12.70.1 127x =

74.40.8 93x =

49.51.5 33x =

4.80.04 120x =

430.86 50x =

32.30.34 95x =


